

פתרו את התרגילים הבאים, אל תשכחו להוציא שלמים ולצמצם אם צריך.

$$\frac{1}{4} \times 9 = \frac{\boxed{}}{\boxed{}} \times \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}}$$

$$\frac{1}{5} \times 4 = \frac{\boxed{}}{\boxed{}} \times \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}}$$

$$7 \times \frac{1}{3} = \frac{\boxed{}}{\boxed{}} \times \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}}$$

$$8 \times \frac{1}{4} = \frac{\boxed{}}{\boxed{}} \times \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}}$$

$$4 \times \frac{2}{3} = \frac{\square}{\square} \times \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square}$$

$$\frac{3}{4} \times 8 = \frac{\square}{\square} \times \frac{\square}{\square} = \frac{\square}{\square} = \square \frac{\square}{\square} = \square \frac{\square}{\square}$$

$$\frac{4}{7} \times 14$$

$$16 \times \frac{3}{8}$$

$$7 \times 1 \frac{1}{14} = \frac{\boxed{}}{\boxed{}} \times \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}}$$

$$4 \times 3 \frac{1}{2} = \frac{\boxed{}}{\boxed{}} \times \frac{\boxed{}}{\boxed{}} = \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}} = \boxed{} \frac{\boxed{}}{\boxed{}}$$

$$2 \frac{3}{5} \times 3 = \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} \times \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}}$$

$$4 \frac{3}{7} \times 14 = \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} \times \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}}$$

$$5 \frac{1}{6} \times 9 = \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} \times \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \begin{array}{c} \square \\ \square \end{array} \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \begin{array}{c} \square \\ \square \end{array} \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}}$$

$$8 \times 1 \frac{1}{6} = \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} \times \frac{\begin{array}{c} \square \\ \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \\ \square \end{array}} = \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \begin{array}{c} \square \\ \square \end{array} \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}} = \begin{array}{c} \square \\ \square \end{array} \frac{\begin{array}{c} \square \\ \square \end{array}}{\begin{array}{c} \square \\ \square \end{array}}$$